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inline void move(int pos, int sign

// update nowAns

void solve

BLOCK SIZE = int(ceil(pow(n, 0.5

sort(querys, querys + m);

int 1 =

1>
r <
1 <
r >
ans|q.id
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nowAns;

i<m; ++1i
const query &g = querys|i];
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000 $collil$ 000000 $$SO00000O0O0%ans$ 0000000 OOOOOOOOOOOOOO
0000000000000 000oDoo00oooO000D—uouooog sk$pooooooo
00 $ans$ OO $C~2_{col[k]+1}-C™2 {collk]}$00C OO ODODO $ans$ OO $C~2_{col[k]}-
C"2_{col[k]-1}$[

0000000000 $\displaystyle\frac{ans}{C"~2_{r-1+1}}$[
O000000D0QJ$C"2_a=\displaystyle\frac{a(a-1)}{2}$[

00 $C~2_{a+1}-C"2 a=\displaystyle\frac{(a+1)a}{2}-\displaystyle\frac{a(a-1)}{2}=a$[]
00 $C™2_{col[k]+1}-C"~2_{col[k]}=col[k]$[
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#include <algorithm>
#include <cmath>
#include <cstdio>
using namespace std;
const int N = 50005;
int n, m, maxn;
int c[N];
long long sum;
int cnt[N/;
long long ansl/NJ|, ans2[N]|;
struct query
int 1, r, id;
bool operator<(const query &x) const
1 / maxn != x.1l / maxn 1 < x.1;
L/ maxn) & 1 2 r < X.r : r > X.r;

alN|;
void add(int i
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sum += cnt|i];
cnt/i]++;

void del(int i

cnt[i]--;

sum -= cnt(i];
long long gcd(long long a, long long b b ? gcd(b, a % b) : a;
int main

scanf("%d%d", &n, &m);
maxn = sqrt(n);

int 1 = 1; i <= n; i++) scanf("%d", &cli]);
int 1 = 0; 1 <m; i++) scanf("%d%d", &alil.l, &lil.r), alil.id = i;
sort(a, a + m);
inti=0, l=1, r=20; 1< m; i++
alil.l == alil.r
anslialil.id] = 0, ans2[alil.id] = 1;
1l <alil.l) del(c[l++]);
1 >alil.l) add(c[--1]);
r<alil.r) add(cl[++r]);
r>alil.r) del(clr--1);
ansllalil.id| = sum;
ans2[ali].id] = (long long)(r - 1 + *(r - 1) / 2;
int 1 = 0; 1 <m; i++
ansl[i] !=

long long g = gcd(ansl|[i], ans2(i]);
ansl/i| /= g, ans2[i] /= g;

ans2/i| = 1;
printf("slld/%slld\n", ansl|i], ans2[i]);
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int unit; /00O0O0O
struct node
int 1, r, id;
bool operator<(const node &x) const

1 / unit == x.1 / unit
? (r=x.r?2 0 : 1/ unit) & 1) ©~ (r < x.r
1 < x.1;

goo

struct node
int 1, r, id;
bool operator<(const node &x) const
1 / unit !'= x.1 / unit 1 < x.1;
1 / unit) & 1
r <

x.r; //O0000O0OO0OO0OOO0ODOOO0O0OODO0OO0O0OOO0O0OO0DOO0O0O0ObObOOn
ERERN

r = X.r,;
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